AEMSEHRISSERZE (F20) RE
B8 11898 (K F&38 30 D~

B ATE5KE 50255

1. A=

2. HL\eD (BR)

3. =&k (510D OER

4. #
(1) BIEROHE

(2) BBRAB (HIRFIXZMGIIGDIEMNE) DRE

5. 208

6. Bx (BHENES)



2

BATRBOEEICFZELSIMEEEDOKR

FE | WREHEH LIRS et ] Fi A=
R2 16,144 A 44,054, 261 +H 2,729 FA| —
R3 16,122 A 45,573,314 +H 2,827 FH| 3.6%
R4 15,931 A 45, 668, 388 +H 2,867 FHA| 1.4%
X1 Fr§2005 LT
FE | WREBEH WG R Fi TR
R2 11,981 A 21,770,080 F+H 1,817 FH| —
R3 12,036 A 23,181,516 +H 1,926 FM| 6.0%
R4 11,704 A 22,615,355 F+H 1,932 FH| 0.3%
X2 Fr{2005M~70075 M
FE | MBREHEH IR gk Fig U=
R2 3,944 A 18,629, 952 FH 4,724 ¥H| —
R3 3,849 A 18,500, 405 FH 4,807 FH| 1.8%
R 4 3,997 A 19,237,411 +H 4,813 FH| 0.1%
X3 FR/1005ME
FE | WREHBEH WS EE Fi5 R =R
R2 219 A 3,654,229 +H 16,686 FM| —
R3 231 A 3,891,393 +H 16,419 FH| -1.6%
R4 230 A 3,815,622 +H 16,590 FMH| 1.0%
EAMERR CEABRED 0K
EED 14 (R3.10~R4.9) R2.10~R3.9 =
A A EABLEIEE A A EATREIRE =58 GIOES
R3.10 2,084,300 M R2.10 3,659,800 M -1,575,500 M| -43%
R3. 11 16, 313,500 M R2. 11 10, 793,900 M 5,519,600 M| 51%
R3.12 2,927,600 M R2.12 2,967,700 M -40,100 F| -1%
R4.1 2,435,700 M R3. 1 2,105,600 M 330,100 | 16%
R4.2 1,667,700 M R3.2 71,623, 600 M 44,100 | 1%
R4.3 5,710,300 M R3.3 2,133,200 M 3,577,100 M| 168%
R4. 4 2,677,200 M R3. 4 4,305,200 M -1,628,000 M| -38%
R4.5 21,388,700 M R3.5 17,860, 300 M 9,528,400 M| 53%
R4.6 9,794,900 M R3.6 8,658,200 M 1,136,700 F| 13%
R4.7 3, 640, 800 M R3.7 2,552,000 M 1,088,800 F| 43%
R4.8 8,881,800 M R3.8 8,523,000 M 358,800 F| 4%
R4.9 6,078,200 M R3.9 5,923,800 M 154,400 M| 3%
&t 95, 600, 700 H B 71,106, 300 M 18,494,400 F| 24%
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THAEE BIWER

X RIS

X =5 5 £°4 5
(LI RERTI&FR 28 8 36
W 1A Y gF RS V2R 12 4 16
FIR NERAKEE 15 4 19
AR SASRINFRIABEE 11 6 17
g7 AHIZS1=Frtv59— 8 0 8
ER IR&ERZ NFERIAEEE 11 3 14
A ThEREELVY— 18 4 22
BE ISP/ NFRIABEE 30 5 35

=

—EmRBETY— 32 2 34
T=4 |IHF=ANERKEEE 23 3 26
= tUy—=A 5 o) 5
R 2NN ZEEBERL 2 0 2
RE RETERRE 10 0 10
TiE TETRGETEY— 3 0 3
5 208 39 247




